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Abstract: This paper discusses the great effects of EXCEL on establishing a regressive equation by establishing a regressive equation with the

sales and number of students nearby as contra - variables to estimate the present sales.
Key words:linear regression ; correlation ; variance ; level of significance

144

1 SSR=2 (Vry)? SSE=X (y-¥)® SST=2. (y-y)?
, X SST=SSR+SSE
y r X y -1< <
) ) X 1
y ' ) - 1<r<0 y X
r=0 y X
Xy
O<r<1 y X
Ir|=1 y x
r=1, s r=-1,
o1 =0, Xy ;0<|r[<0.3 X
y ;0.3<|r < 05 Xy ;0.5<|r <08
Xy ;08<[rls1 Xy
, (n-m, n
,m ) a
a 0.05),
ru(n»m)x ‘r ‘2 rm(n»m)x
a ,
2. ‘r ‘<ra(n-m)r
(3)
y=a+bx
“ t
Y y , X . ab
, b t
-2
b>0 X , ;o b<O0 SCAR ALY
y . _ \V1-r?
y X , ;o b=0 .y
< , t t(n- 2) t
' a n-2, t
3 b [t]=t t
(1) = lap
EXCEL
EXCEL
(2)
) )
ror 1 0.2 58
r’=SSR /SST=1- SSE /SST,
2 0.6 10.5
3 0.8 8.8



o o SCIENCE INFORMATION 2007 12
4 08 118 2]
[ =]
5 1.2 11.7 Y ERAREQ: $C$2: 30811 3 =
X {ESAREE Q) : $B$2: $ES11 5 _I
6 1.6 13.7 )
(i {9 [ BB8AT O
7 2 15.7 vV BEE® *
8 2 16.9 PR
C SRS Q: [ =]
9 2.2 14.9 & FHIERE @) [
C FHLEE®
10 2.6 20.2
VBER I~ #EEQ
I~ WERE © v #iEsE O
18 11 poeTem
? r EsmER®
1. 3-2 ‘ "
) ) (
A B [ c : —> ), "
a
1 JERRSEAAFER 0 FEHER Co
2 | 1| 0.2 5.8 XY (B1:B11, C1:C11), ,
3 2 0.6 10.5 (95%) , , ) ( 31
4 3 0.8 8.8 XY (B2:B11, C2:C11), (95%),
5 | 4 0.8 11.8 ) . ( 3-2)
) 5 1.2 11.7 « " « "X Y
7 6 1.6 13.7 X), )
8 7 2 15.7 i . ( 4
9| 8 2 16.9 i
109 2.2 14.9 P
11 10 2.6 20.2 Adjusted R Square 0.8390575334
‘ IMEIRE 1.382931669
1 i 10
AENMT
( ) df SS s F mificance F
! ’ ’ [SIEE 1 142 142 74,24837 2.556-05
, ¢ " ; “ " HE 8 153 1.9125
83t 9 157.3
« (H)” B Coefficients PMEIZZE t Stat  P-value Lower 95%Upper 9SWFFR 95. 0FR 95.0f
L —— Intercept 6 0.922603 6. 503336 0. 000187 3.872473 8. 127527 3.872473 8.127527
“ XY ” “ " ( 2): RARFER ® 5 0.580265 8. 616749 2. 55E-05 3.661906 6.338094 3. 661906 6.338094
FEMES ) RESIDUAL OUTPUT
" ] I =
20 T ; 1 7 .2
20 - 2 9 15
- s Bale Ba e 3 10 1,2
15 . T o FIEHES 4 10 L
10 PR (Y) 5 12 0.3
. ) 3 14 0.3
5 = 7 16 -0.3
8 16 0.9
U 9 7 21
0 | 2 y 10 19 1.2
4
E2
, :a=6; 1b=5; :R=0.950; 'R?=
, 0.90273363; F :F=74.24837;t :1=8.616749; ( ):
, , 5=1.3829; : SSr=142; :SSe=15.3;y
, : SSt=157.3
2% 2 ,
A ~
Y ERAREQ): oo | —= y=6+5x
X {EMARE Q: [sBs13BS11 = LI RR'F t
—_ 2
 Esaly raEaRo B o , R=0.950, R>>0.90 R ,F t ,
vV ERE® [ss = it :
i = = 090  _g6157306
C SitiEE ©): | =] 1-r 1- 0.950°
© HIERE®: | n-k-1 10-1-1
CHIER® ( 95,
" %E® I %=E s A =0
I AERE D > BRENSE © £, =(yr V)2 S= ¢, =15.30,
RS i=1
I 0 13 1 15.30
oo A. 2 = - = : =
— - et 2w =\ s =\ T =133

145



SCIENCE INFORMATION

2007 12

5 -1.383 _( 1929<150=0.15 10 19 12 144
y 113
5 15.3
3.
)
1 7 .12 1.44 S 1383 1.8 ”
2 9 1.5 2.25 sly 0.1222 | y=a+hx y ) X,=1.8
3 10 -12 1.44 EY, 90=a+bx0=6+1.8*5=15.
4 10 18 324 Yo 0.95 (Yo 1.96(Q/(n- 2)) ), Yo 1.96(Q/(n-
5 12 -03 0.09 2))¥%))=(15- 1.96*\/15.3/8 ,15+1.96*\/15.3/8 )=(12.289,17.711), Q=
6 14 -0.3 0.09 SSE.
7 16 -0.3 0.09
EXCEL
8 16 0.9 0.81
9 17 -2.1 4.41 s '
[ ]
131 ) ,
5.
(1)
(2)
6.
4.4 21
(1) . ¢
(1 (M, , 2003.
[2] [M], , 2004.
(2) [3] [J1. ,2004(4).
, (1974- ),
[ ]
127 )
1.
2. | [1] , .11, 12006.3.
) [2] ) 31
, 2004.04.
3.

146



